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XD (1], [2], [3] DEFMIHREE X.

[1] R PV u,v,weR %
u = (157170)’ V= (071771)7 w = (717()’1)

CEDDL. Fi
Vi={(z,y,2) eR® |z +y+2=0}

rB UTOMZEZ .
(1) {w,v,w} B—KEETH S Z ¥ ERE.

(2) V 5 R ORIVESZMTH B 2 L 2RE.
3) {u,v,w} 2V ®IED L ERE.

(4) V LOREEE f TH-T, f(u) =v, f(v) =w, flw) =u+v ZHZTDOPEFELRNI
L.

(5) V LOREER: g TH-T, glu) =v, g(v) =u, g(w) =w ZHiTdOEER L. ZOMEE
1 g DEIFEZ TXTRD, BEAMEIIN S 2 EH22H S KD X
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[2] XD (A), (B) DFTRTOMIZEZR K.
(A) En=1,2,... TNLT fo(z)=ne ™ EDZ. LLTOMIZEZ K.

(1) &> 0 2B BMRBI f(x) = lim fo(z) ZKD, {f} KX (0, 00) T—HELRT 57
Y5 ik

(2) BEKUEREL D folx) XM [1,00) THIUKT 2 2 L &R E.

n=1
2 [}

(3) %ﬁﬁ/l (Z fn(:c)) dz DIEZERD &.
n=1

(B) IToMIZEZ &.

(1) D={(z,y) eR?|0< <1, 0<y<a}icxfLT, EED

// e(l_y)zdxdy
D
DIEZ KD k.

(2) I 2 = 22 + 42 ¥ 2 = 20 THIZh 3 BB REERD k.
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[3] XD (D), (II) DNFTNLDRICEZ XK.

(I) XD (A), (B) DI XNTORICEZ K.
(A) X, Y ZBELL,0y 2 Y LOMiMHET 2. 7, f: X =Y 2B/ L,
f(Oy)={f71(0)c X |00y}

rBL.UToMcEZ L.
(1) f*(Oy) 23 X LONHTH 2 Z & 2mE.

(2) X EOfitH Ox 1IZ2WT, B fIIAiEZEM (X, Ox) » HAAEZER (Y, Oy) N0
MEJTHZLTE. ZOLE f*(Oy) COx 2725 RTE.

(B) (Y,0y) ZMHEME L, A Z Y OFEELT 5. £
Oy(A):{AﬁO|O€Oy}

r5. DTOMIZER X
(1) Oy(A) 3 A LOMHTSH % 2 & &mRe.

(2) A ORI O 120WT, A db Y ~OEEEML L SRAHZER (A, 04) b6 Rz
B (Y,0y) NOHEGEETHZ LT E. ZOLE Oy(A) C O4 L1552 L RTE.




I1) XD (A), (B) DFRTOMICEZ &.
(A) n>1 288y L, X1, ..., X, BEWCHITICTES logd (6 > 0), 28 1 ORI
5 MR Y U, K RERsOR

n

L) = [ (x| 6)

i=1
&35, 12121,

1 (x — log 0)?
f(x|9)—mexp<— . )(xER)

ThH3. 2O E UToOMGREREZH~-T 0 2 0 ORLHEREL T 5.

L(6) = max L(0).

2, X =030 X, £ T5. UTORMICEZ &.
(1) 6 = exp(X) &Rt
(2) 013 0 OPFEHEERTIZ RV L Z2RE.
(B) UTFOMIEZ .
(1) ¥ R? NORA=MEMHER D %

D={(z,y) eR* |2 >0, y>0, z+y <1}

WEDEDZ. 2KICHELERZ ML (X,Y) X D EO—HFOMIci> 35, F
E(X) 538 Cov(X,Y) 23K K.

(2) &t C THWHNZEE P X, Z2o0TH A ¥ B THEEINS. A TEEIIT:
i P OB ARRMHOEEE % THYH, B THEEINHH P OS5 B ARRMDE]
B 0% THD. Tz, Wi P BAFRMTH B &, Z2hh A THEINMHEREZ
q€(0,1) TH3. &tk ClZBWT, A TEEINZEHM P OE&%ZRD X.



